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Time : 3 Hours Maximum Marks : 80

N te : Attempt Five questions in all, sclecting one
question from cach Unit. Q. No. 1 is
compulsory. All questions carry cqual marks.

(Compulsory Question)
1. (@) If: >
@ A={a,b,c d,c}
' and B={d,e,f,g};
find (A—B)N(B-A). 2
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a+b 2 6 2 Unit I

) If s ab =|s sl find the values
of a and b. 5 2. (a) Prove that, for any three scls A, B
(c) Writc the minors and co-factors of the it ﬁbﬁ...mvjnu.},DAmDnv. 8
5 20 (b) For a certain test a candidate could offer -
matrix A= o -1l Z Qanskrit or Urdu or both the subjeccts.
(@ If .\.?Vuwh.+m. find the range if domain Total number of students was 500, of
i .T_, 2, mw and hence find the function. whom 350 appeared in Sanskrit and 90
) in both subjects. Use set operation to
(c) Evaluatc : show : 8
. mEmmu..Hn. ) (i) How many appeared in Sanskrit
s bx only ?
() Diflerentiate T..nulmun.*.&p wrt. x. 2 (ii) How many appeared in Urdu ?
(g) Evaluate : (iii) How many appeared in Cmnmz only ?
._. =(1 +_—omhvn Lo : 2 3. (a) Prove that : \
x—2 -3 . 1 x X .
M 1If 3x  2x Nma.mﬂn the value of x- Y 3y’ nAHIECMINVANIHXH+H+hu,m
2 1z z*
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(b)

4. (a)
(b)
5. (a)

_._u:?.i:m system of equationg

ghow that the relation R in the set
{1,2,3} given bY R={(1,2):(2 1} is
t neither reflexive nor

mv,BEnin bu

transitive. 8

Show that the function f iR = R given
5x+3 yeR is bijective

by f(x)="7 "
d hence find the inverse of /.

function an
8

(i) Evaluate :

lim NtV i-x

x=40 2x

4
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(b)

6. (a)

(b)

-
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(i) Evaluate :

, e'=e™*
lim
=0 x - 8

If a function *f’ is dcfined as :

_HIA_

x—4
Q. x=4d

x#£4

¥

/(%)=

’...

Show that *f’ is continuous everywhere
except at x = 4. 8

Unit TI
x LT show that
If y=1+7"7 3 BoW
dx n!
d
2 g

If Eu?.f,...u.u.m.nuva. then find e
; ...,.:+Hn+_ g

dy if y=tan’ Ill.H.lll i
;s :

—

7. (a) Find —o»
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— L L men, B -

(b) Ir (cns.r)"=(5in_1-)"_. prove that :

dy logsiny+ ylanx
dx logcosx—xcoly '

UnitIV
8. (a) Evaluate :

Jtan" (secx + tan x)dx.

(b) Evaluate :
J.:f:2 sinx dx .

9. (a) Evaluate :

_[ 3xz+l e
(x=1)"(x+3)
(b) Evaluate :
) n/2

-0 e
7 V1+cosH




